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Section A (282 marks) - o .
Farquastions 1 fo 28, chovse the tost suitable answer and shade ifs number (4.2 3or
4% oy the: Opfical Answer Shiget (OAS) provided.

1 The diageam shows two types mff‘ungu

bracket fungus mu.snmm
Which statement isfrue of fingi?

(1) “they.are flowering plants.

(2) They reproduce by spores:

(3) They make fosd on thelf.omn.

{4) They:are nor-flowering plants.

2 Studythediagram below.
Start

T Canltmake
ftsownfood?

Does it have
feathers?

What could B be?

£1) ‘hird
(2] plant
{8} insect
{4y rmammal

S P4 EES Booldeth 12024 /Page 2wt 15
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3  The table shows how some living things can. be grouped.

Living:things

|

Which 6ne of the-following Is the most suitable heading for group X2

(1} insecty
{2) reptiles
{3) mammalg
{4} amphibians

4 The diagram shows a pair of scissors,

Metdl is used to make the blades of the scissors because mefa]

{1} canreflect light
{2) does not break easily
(3) ean bend without breaking

{4) doss not allow light to pass through

S6/PA IEYE FBooRIet A S 2024 4 Page dof 15
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5 Inwhichone of the following will the two magnets move towards each other?

M

N

)

2 s

)

&  Thediagram below shows & young plant,

The leaf helps the plant fo,__
(1) make food

() absorb spil

(3] absorb:water

(4) hold on to the soll

So/ PALEYE 1Booklet A1 20241 Page 44 16
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7 ABand Care stages n the e cyole of a plant.

B

Which of the following shows the cerrect fife eycle of thie plantz

n o o

@ ; )

Both objects have the same

{1} size

@) mass
@) shape
4 volume

ol P4IEVE 1BookistA 12024 1 Page5.of 15




9  Which-one ofthe following is4 source of light?

{1

Moo

' candieflame y/ mier

10 Sundar mixed sore hot water at 80°C with cold waterat 10 °C.

beakeor

water at 80 °C

What is & possible final temperature of the water in the baaker?

( 90°C @ 8O°C
@ 60°C W 10°c

Se/Pé EXE L Booklet Al 2024 1 Page B.of 15
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11 Alizard wilt drop fts tall and move-away when i Is touthed.

This shows that the lizard is. a living-thing Because it can

(1} grow
(2). breathe
(3) respond
(4) réprodiice
12 Jane placed five insects in & jar containing food arid water. She poked sofrie
siall holgs: in the fid of the jar.
The graph below shows: the number of inseets in the:jar over 10 weeks.
numbeér of insetls

)
10 4

g 5 10 weeks

What of the following explains the change i the number o6F insects over the.
10 weeks?

(1) Theinsests grew,

{2) Same insects died:

{3) Thainsects reproduced:

(4} Theinsects took in food and water.

5t P4 FEYE ] Bookist Af2024:/ Pags Tob15
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- 18  Threestudents made the follewing statemnents about:a fern.

- produsce flowers. |

1t produces
- seeds.

| itmakesits gw:}:fo.qntq

Which of the $tudents is/are correct?

(1} Benonly

{2) Ben and Caili only
(3} Alexand Caillonly
(4) Alex, Ben and Cafli

14 The table shows how animals can be grouped:

‘‘‘‘‘‘

Prodiices milk for | Does not produce
its: young milk for its young

Hasatail P | _ a

Doesnothaveatail | R | s

‘The diagram shews animal X.

hair - -

Which: group dees ahimat X befong to?

M P
2) Q@
@) R
@ 8

SeJ PAJ EYE] BoolGatA ] 2024 / Page d-or 15
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15 Petercondutted ari experiment in a wellit roomwith four identieal bread buns
as shown below. He sprinkied wateron fhig: bums i Set-ups G and B.

glass =, A wooderny.
box 7 A box

dry braad
bun

T wetbread )P ot bread

S6tip © bun sef-up D

&

Afterone week, Pete observed that mouild was growlrig o thie buris iin set-ups
Cand D, but fioton the buns in set-ups A and B.

What can Pete conelude from his experiment?

{1} Mould does not need light-to grow., -

(2) Mouid does not ieed water to grow.

(3} Mould needs light.and water fo grow.

{4} Mouild does not need light and water to grow.

16 The table gives informition"on four saves, W, X, Y and Z, based on: two
characteristics. A tigk (v} shows that the leaf has the characteristic.

Heart-shaped L Y

Hhsvrsf::aigh‘t;gﬁ:gté: | v

The diagraiti below shows a leaf,

Whichs of the followitig is most likely to be the leaf?

M w @) X
@ ¥ @ z

SEIPATEYE MBooklet A7 2024 7 Fage'gof 15




17 A shelter was st up along 2 walkway fo profect passers-by from falling objects

and the rain. .

shelter

Which of thie following materials is most suitable for making part H?

| ' ?”ropgrty-
Materiat roperty

R b stong Wate'r;prr_oéf_:
T T e

@y ¢ w1 w
(4) b | ys | yes —

18  Zachary tried to magnetisefour fods, made of different materials, with the same:
magnet as shown in the diagrams below. The rads are 6fthe same length:arnd
thickness.

Wiich set«up will result in the rod being magnetised?

@

(1

_S il
B it

steel red

3} 3 (@

|- e geemms

L
t
'
+
L}
i

e i e ._\,é:,___ﬁ
-

o i
Wi g i m

. e *v"—‘i‘im &

steel rod
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19 Study the set-up below. The volume of the container i 100 em?,

— connected
to-apump

air-fight
contalfier _

30 e of water

Using the pump, 20 em? of water and 10 cm® of air are.added into the containar:.
What is the final volumie of the air in the container?

(1} 50cm?

(2) 60 cm

@) 700m*

(4) 80

20 Glen has two glass contalners, A and B, of the-same capacity. He placed six
e marbles. into container A as shown below. When he: poured the
marbles Into contairier B, he observed that not il the marbles could i into it

gontainer B

Which of the following best explains why e marbles could fit into container A
but not contaiiier B? '

{1) Marbles have mass.

{2) WMarblgs occupy space,

(3) Marbles havea definite shape.

) Marbles cannot be cotripressed,

S }P4IEVE /BooklatA S2024 /Page 41 of 15
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21 'Which ot the following graphs correctly shows the amount of undigested.iood
enfering and feaving two of the cigans in the digestive system affera meal?

Bl caving the orgen

| Key | entering the organ

TeH) )
ameountof undigested food arnouirit of undigested food

¥ ¥ *.

mouth gullet Ariguth gullet
(3) “)
amount of undigested food afmount of undigested foed

T‘ Y

mouth guillet mouthi gullet

22 The diagram befow shows a hiiman body system.

What is the function of this system?

(1) takes air into-and autof the body.

(2) supports the body and gives it shiape

(3) breaks down food into simpler substanges

(4) transparts digested food foall paits of the body

‘SerPAYEYE] Booklet A /2024 Page 129 15
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23 Thegraph below shdmo:s the numberof daysthat animal R spends ineach stage-
ofits life-cycle, -

odg T
_adult S
e —

At which, stage of its life cycle would animal R be on the 20*3’ day after the
egy Is iaid?

{1} eyg (2) pups
(3) aduit (4) larva

24, The diagram below $hows the: life cycle:of & butterfly.

Which graphi correctly showsthe ampuntof food the butterfly eats at stages
A; B and Cofits lits gytle?

(1) (2)

amount amount
of food offood
eatenr | eateri

(4
amount ¢
offood |
safen |

s.i;ége

Be? P4 EYE I Hooklet & £2024:/Page 13.6t 15




25 Hui Fang wanted to find out if water is needed for seeds {o grow.

|setupp |setupQ
(kegt at 25 °C) o | (keptat35 °C)

stpR  set-ip S
(keptiat 25 °C) | (kept 2t 35 °C)

| wet soil | wetsoll

Which two set-ups should she use fora fair test?

) Pand@
2] PandR
@) QandR
{4) RandS

26 “Tifany shone a toreh ata cardboard box In.a dark room. She held the torch at
positions F, G and Hand measured the length of the shadow formed-on the
floorfor each position..

1P
f'_h.l

floor:

ithich of the following shows the correct order of the positions based on the
lenigtis-of the shadow formed?

[shiortestshadow ————> fongest shadow
il | ¢

(4).

ITi@Qi@
tniz|niz
olnlz

Sof P4 FEYE | Bookt A 2074, Page 14 of 15
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27 Shi Jia poured differant volumes of water at different temperatures info three
identical beakers, &, Band €, S

| Beaker | Volume of water {ml) | Temperature {°c} |

Which of the following statarients is tiue?

(1)} The waterin beakers Aand B have the same amount of heat,
) The water in beakers A and C fiave the $ame amount of heat.
(3} The waterin beaker A has rore heat thanthe water in beaker B,
{4} The water in beaker A Has more heat than the water in beaker C.

28 Ravi wanted to find out if fertilisers X and Y Fielp plant M to grow faster, He
Placed four pots of plant M in the same area In his garden. The diagram pelow

Shows the four polsiof plants afterfoar weeks.

[ fertiliser | nofetiliser | fedliserX | fodilisery gecmhsdei}s
added | X il

| Plant a¢

Plant
afterfour
. weeks

What can Ravi sonclude about the: sﬁe&stoi fertilisers.X and Y on the growth of
plant M? ,

(1) Only fertiliser % helps plant M ta.grow faster.

(25 Only fetiliser ¥ ielps plant M to grow faster:

(@) Bofhfertilisers X:and ¥ help plant M o giow faster.

() Both fertilisets X and ¥ do nothelp plant M ts grow faster.

End of Section A
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section B (44 marks)

For questions 29 to 41, write your ariswers in the spaces provided.

29 Lityrobste‘rve:df and grouped some things.as shown in the fable.

F

G

tree

o

yeast

: Son -

chair
dress

What are the suitable headings forF and G?

(a) GroupF:__

(b} GfoupG:.

30 {(a) The diagram shows partof
show where the small intestine is.

(b} Fill inthe blank uging:the following heélping Words.

large intesting stomach small intestine mouth |

i
1

the human digestive: system. Tick () one bexto
11}

[}

Watsr fs @bsorbed by the body from the undigested food in the

SotPad BYE ] Bookfet B P20 Page 7 ot 18
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31 Thediagram below shows the stages-in‘the Iffs cyele of a grasshopper.

(ay Namestags P, "

(B)  Draw# line to matchssch statemerit to the correct animal, 2]

This anintal has a
similar fife cycle asthe o
grasshopper.

This arilmat lays eggs
in'the watber.

Sof Pt EYEY Bocklet B 2024 #Pa5s ¥ of 16




32 The diagram bilow shiows a beaker of water.

{a) Circlethe correct state of water:

solid / liqud f gas

{by Fillin the blanks using the: correct words A the box..

[1]

fncreases remains unchzanged

gas decresses Tiguid

solid

(i} When the water loses heat, its temperafure

11

(i} The beaker of water is put over a hot stove, After some tinie, the water

‘will change ifs state to

St ] P4 EVE Fookiets /2024 [Page 4 of 16
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33 Bacferid E-can be found naturally it mill. It Bauses milk to tum. Bad when it is
present in large numbers. : :

{a) Bacteria are living things. Tick (") all the condition{s) needed for bacteria to.
stay alive. [11

| ait | food

| ight | water

{b} June heated some milk at 75°C for a short while. Stie mieasured the ampunt
of bacteria E in the milk before and after heating. -Her résults ars: shvwn
below.

amountof 4

bagteria ity |

the mille
(unit)

e
after
- heating

Stats how heating the miilk affected the bacteria E in it, Ml

{c) June conducied an expeljment 1o find out how quickly bacteria E. ¢an
réproduce iy mitk when. it is keptat dnf;ferent temperafures. Her results are
showa helew,

Tenmiperaturs st | Amounf of"bacteria E presﬂnf {umt)
which the milk is

kept{°C)

Rt thie start of

- the experitent;

6 hours later

10

40

w -

I

Jurig's vefrigerator has a température of 3 °G, Based on her results, explain
why she should keep the rilk iri thi refugeraterte prevent it from tuiming: bad

quickly,

St 1 P41 EYE {Booklel B 12024 f PageSin 18
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34 Some:anitiials'were classified as shown belows.

' Question 'Y o

(a) Based onthe flowchart, state a similarity between animals Warnd % [

(b) Girele the correct answer. (]
Atoad s afan ( replile 7 mammal / amphibian ),
{c) Whatare questionis Y and Z? [2
Tiek{v) inthe comectboxes, _ | |
{ Question ¥ | Question Z

| Does it have tegs?

| Does it have scales?

| Doss i have s shell?
:Can it breathe thrpugh Re skin? |

BP-674
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{d) Whigh of the followinig znimals could agimal X be? 1]
Tick (') in‘the: gorract box(es}, : -

35 Bala conducted an experiment tofind out if the number of leaves on plant woulg
affect the amolint.of water taken i by the plant, He placed two similar plants in twe
identical jars; K and L. as shown bafow: Both jars contained the sams amount of
water;

- part M

(al Bala compared the amount of water feft in the jars after two days.

He congluded that the more leaves a plant has, the more watsr ftakes In.
Circle the caﬁem-éhswer-bémw.. 7 [1] '
The amotint of water left in jar Kwas

( morethan | thesameas I less thart Ythe amount of water left in jar L.

(b}  Otherthan water, staie another substahce taken in by the roots M

(e} (i) Name part Mofihe plant. My

{H) State the fanction of part M, i)

S/ P4 S EYE I'Bockiet B 2024 1 Page 7 of 18




36 Fu Sheng set up &if experiment as shown bélow: to: compare the flgxibility of two
strips, Qand R, whichare made of different materials, - S
, load

stip

support

For each strip, be added a joad of 1 kg and mieasured the distarce d. His results
are shown below.

““swp | Wessofload(g) | Distancediom)
2 =

a) Based on his results, what could Fu Sheng conclude about the strips € and
R? M}

{b) Fu Bherig wariteg fo conduct ariother experiment using the same set-up.

He-wahted o find out how the thickness of a strip affects distance d.

Ta conduct a fair experiment, which of the following variables should be

changed or kept the sammie? Tick (v*) the correet boxes. 2]

Variable b To ﬁeﬁhahgé.d To befike-pttﬁéés‘émé

A

mass.of load

length of strip

material-of sirip ' |

thickngss of strip

measire

SCORE
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(€} FusSheng broke:off a smil plecs from sirip Q:and placed itinto a tank of water
with: ball P. The diagram Below shows His obsérvations. :

Cari Fu Cherig condlude that bal
matarfal? Give a:- reason o your ariswer,

P and strip' Q were: made of the same:
1]

ScfP41EYE/Bookiel 12024 Pagerg of 16 I '




37 Huig hung objectE on a spring as-showry in diagram 1. Diagram 2 shows what she
observed whers she placed an electromagnet under it. '

spring

- object E

AANANK ﬁnl&h&_

il

Diagram 1 Diagram 2 battery

(a) What could object E be? (11

(b) Expiain why object E moved up when the electromagnet was placed under it.
11

¢} Without changing the rod and its position, siiggest one change:that Huigi can
tmaketo her électromagnet te make object E move up more. Give a reason for
YOUF answer. [2]

BP-678
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38 Marcus poured sommie waer into cantainer U as shown. Contaifier U has tiwo
openings, Aand B. He obsarved thatths water lavels in both siles of the container
were the same,

water N
container U
(a)  State a property of water that allows Itto flow into eantainerU. [

o

(b) Marcus removed the water from container U and coversd opening B with 4
rubber stopper. The diagram below shows what he observed when he poured
the same amount of wate back into containar L through gpening A,

rubber
stopper

Explainwhy the water level ih the side with thé rubber stopper was lower: [2]

score | |

56/ P4/ EYE ] Bookiet B/ 2024/ Page 11 of 18




36 Hassan set up the following experiment in a dark room, A light sensor was attached

on the screer. He placed the screen at different distances from the: lamp. afid
recorded the amounit of light detected by the light sensar.

light sensor~"

lamp screen

distance between
lamp.and screen

The table below shows his results.

Distance betweenthe lamp | Light sensor reading |
apid the séreen{em) (unit)
20 | 105
4D | 50
60 28

(a) Circle the correct answer. [
As the distarce between the Jamp and screen increases, the light sensor
téading (  decreases / remainsthesame [/ Incredses ).

(b} Hassam placed a wooden object etwesn: the Jamp and the screen as shown
Below.

wisoden light senser™

olject . screen

He moved one of the items. s.toﬁ[yz. He obiserved that thie §hisdow of the object |

ofi the screen beeariie smallerand the light sensor reading increased.

Which item (famp, objest or sereent did he movs and:in which direction? 1]

'SCORE |
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{e) Hassgnhashrmshapjasg Jand K, made of different materiats,

(frosted glass) (metal}

He placed the shapes between the lamp and the screen as shown below:

(i) Which of the followirig gof ectly shows the shadows formed on the
sereen? Tick () the torrect answer. ]

screen

(it} Hassan obsérved that the shadow fomed by object K was darker than
that of object J. Explain why this is s6. [1]

- SCORE
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40 Viriceiit conducted: an experiment with three cups; X, Y and Z, made.of different
miaterials. The cups were of the same size and thickness. He placed the samé
amount of lce cubesin the elips arid meastred the time taken forthe ice to: melt
completely in .each eup.

. wooden lid

His resiilts are shown below.

| Cup | _ Time ‘fa__ke'n- :for.'icé; to __mejlt completely (mln)
Y T
'z g 17

{8 Explain why theice in the cups meited. ’ ]

{b) Based on his experiment, which cap, X, Y orZ, is made of the best.conductor
of heat? Explain: your answar. |

{c) Vincent conducted ansther expafiment with cups X, Y and Z. He filled the cups
with the same ameount of cold water and Teft thein in the same room. He

rreasured the terperatures of the water in-the cups at different times.

AL S S WSS E A LA E LS
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{i) State wha;ftgmpérafure is.,_ | [

() His results ars shown below,.

temperature-of water *C)

A 5

0 i0 20 30 40 50
time (m ii‘.’l)i

Which graph, A, B or €, shows the: temperaturs change of the water in
clip: X2 : i

(i} Based on the graphs, state.ihe toom tempatature. [1F

8GORE |
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41 Sunil conduicted.an experirgent using twa similar flasks made of plastic and matal
as shown in diagram 1. Diagram:2 shows whiat Fe obssrved after the two flasks
were plaged ifva basin-of hot waterfor a short while,

Diagram 1 Diagram 2.

. g!as_s

olastic flask  metal flask

Explalrswhy: the ink drop i the glass: tube, for the plastic flask Was lower than that
forthe metal flask. (2]

End of Section B

BP-~684
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Pei Chun Public: School
_ Primary 4Sclence ~
End-of-Year Examination 2024

Name: () ClssPimay4/( )

—  Suggested Answers

(&) | Group F+ living thing
(b) | Group G; non-fiving things:

(b) | Wateris absé-rbéd.byft'h@uﬁds? from the undigested food in the large intestine.

31 (a) | Stage P'is the nymoh/ young stage.
{b) | This animal has-a similar life cycle.as the grasshopper. — chicken.
This animal lays eggs in:the water. — mosquiito.

32 (aj | Thee beaker of Wateris in fiquid state;

(iiy | The beaker of waiter is pu over a hot stove. After some time, the water will
| ehangs its state to gas.

(6)i) | When the water loses-heat, its femperature decreases.

35 a) | Goneapls: - Ling Tings need air, food and water 1o skay aiive. T
- - Bagleria do.not make thelr own food, thus they-do riot need light.

| Bacteria needs air, food.and water fo stay alive.

{5y | Dbsaruation {araph); There wes Joss bacteri E in e rilk afie heating.

Heating removed most of the bacteria E from the mitk. /
Heating reduced the amount of bactéria E in the milk.

——(&) | A of experiment: *To ind ot iow Guidkly bacterta E can reproduce i milk when i
Is kept at-different temperaturas.”

Observations (iable): ~ Batteria E reproduced at 5 °C; 15 °C and 30°C.
- Bacterja E reproduced the siowest/least at5°C____

Bacteria E reproduced the slowestat 3 °C and the temperature of June’s
refrigeratoris slightly lower.

"34 (a) | Both Wand Xcanfly.

(b} | A toad is an amphiblan,

...,.‘.\,-u.....- .
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55 ' .'a;mpmbfan h,as mo:st skm amf breatﬁes through its skinJn Water,
w A replile has scales an,a‘ br:earhes throughr lungs, {snake-and torfolse)

: Quiestion Y = Dees it have: lags?
- | Question Z~Can it breathe through its skin?

@)

Observation {fiowehart):

+X ean fly. it does not Jay aggs.
1 Conoepts: Mosfmamma?s give birth, alid birds gy gggs:

| The bafisa, m_amm‘_a_h It can fly-and.gives birth to its young,

(@]

. l'nference

“Fa conchided thal the more leaves a plant ias, the more waler & iakes in.”

Obsarvation: Plant i jar K Fag: -ore-leaves:.
Plant in jar K wilf take. ift Hipre Water L

 The amount of water Jeft in jar Kwas less than the amount of water left i jar L.

~b)

Goncepl The rools take in waltsrand minerat salts forths plant.

Do NOT use the form. “nutrients”, which
| for the plant, :

is vague. Food is 4ls6 considerad as nDtnenfs

Mineral salts:

o)

(i} Part Mis the stem,

(ii) The stem halds the plant upright,

36 (a)

Cohceapl: The flexibility
Observatrons. - Whign

hi materi:

Al of experiment: To compare the flexibiiity oF twa Skips, Gand &

ofa matenal is-its ability to bend without breaking.
al benils-more, distance o wil be shoder
=@ has:a shoiter d:stance d fhan A (Q bent more than RS

Skip Q is more flexible than stdp R../ Stnp Q bends more eas:ly than stnp R.

Chariged viriable = thickness: of strip:

Alfty OF eXperment: 1o find ouf Fow the thickness of & ‘strip efects distance. i

Measured. vanab!e a‘ismncg d (resz‘:!ts of fhé e:cpeﬁmem)

Varieble

'Ei_s ke ehan'g_ed;

: f&ébelﬁépt‘ ihesame '

: masaof load

v

I Iengﬂ:; ofstrip

rmaterial of strip.

v '

| thiskness of strip

o

Teo conduct: a
fair test, we
needto ensirs
iat only-dpe
variable i§
changed and
the other
vangp}es are
kept the same,

Gorcept: The material of an objet aifects tha by oFthe BEESTo Tioakar STakn water. |

No. There are miany. different materials that sink i water:
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Ghsarvation; Objeet E moved away from the electromagnet.
Gencent: Likd pols of two magnetsrepel.

Object E jsa. magnet.

[

Concept: Like poles of twg miaghets repel.

Like poles of the electromagnet and object E were facing each othier, so they |

repelled.

@

~Eoncapt W car Trcraase the steength of an eleciomagnet by increasing die nurber
- of turris of wire around the magnetfc object and the fiumber.of batteries:

Bo NOT write “increase the hunibet of cofls of wire®. (A coil of wire i$ made up. of many
furns ofwire:) _ , e

Suggestion: She can add another battery fo the electromagnet. / She can
| increase the number of tums of wire around the rod.

| Explanation: The electromagfiet will be stronger. Thers will be stronger
repulsion between the electromiagnet and object E, pushing object E further up.

Goncept: Liquid fakes the shape of Its container as it does not have a definite shape. -

@]

| Water doss riot have a fixed / definite shape.

(B}

| « Without the rubber stopper, the air in the Gontainer could escape through openings A
- ahd B when water was polrédir.

Contept: Matter occupies spacé.
Obsérvations:

| - Whieri the opening.B,was covered; some of air in the container was trapoed.

 Air was trapped in the side of the container with the. rubber stopper. The air |
|-oecupied / took up space, 50 water.could not move up to oeeupy the space.

36 (&)

T Tr6 distance between the 1amp and sereen moreases, 6 Tgh sensor reading
decrenses |

(o)

“bServations: - “Shadow of tha object on tha sareen becarne smaller” T
« “light sensor reading increased”

For the light sensor reaging to Increase, we need fo decrease the distance between
thie lamp and scieen. (Refer to the results of Hassan's experimant)

Tos maike the shadow smelfer; We car siove the limp away from the pbject and the |

screen, However, the distance between the Jamp-and the screen will increase and the

Move the screen closer to the object / lamp.

Object J is-nearerio the jamp, so it will
form a.bigger shadow an the sereen.
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() | Concapts: - A shedow s Forfied whon TGhi Blockag, o
T - Different rriaterials alfow different armount of liyht o pass tHirough,

| allowed some light fo paiss through. /
| Object K blogked miore light than objet.J.

? ‘\@,bie;cﬁ K (melaly does not alfow Iigh&ftoﬁass through, but object.J (fmsted glass)

40 (a) | Concapt: Heal ows Trom an objeet o7 & Fiafior temipratiiré T an ChjeEt of Jower

femperature. (The ice has g fower temperature thay the surrounding S

| The ics gained heat from the surroundings / surrounding i/ cups,

"B | Goncapl-A good cordudtor STows TeatE Fow throtigh It GUickly.
+ Observations (fable):
} The time taken for the ice 1o molt complefely was the shortest for up Y,

| The best condisctor of heaf will onduet hieat the fastest frorm the Surrounding alrto the |
1 168 T the sup. Thus; the fee in-hait cuip will el the fastest. |

{ You chose the cup basad on the Fesults of the expéfiment, So you should referts the f_

| vesults in the-explanation of your choice;

| Cheek your Answer ater wiriting. Do NOT wrife “Cup Y. It melied the fastest “It* refers |
fo the cup, The ice misitod, riot the cup, _ _ "

| Gup Y. The ice'in cup ¥ taok the shortest time to melt completely. / The.ice |
| ineup Y melted the fastest, / The jce in.cup Y galned heat'the fastest from |
‘the sutroundings,

" (00} | Temperature s 2 measura ] measurement of how hotof cold an object 76,

| Qbssrvation: The Toe it ctig X melted The STowest.

jInferente:  Cup X'is made obthe pocrest conguctor of fieat, ,
| The ‘water in cup X would gati heat the slowest from the surroundings, The
| lomperatite of the water would incredse the slowest anid i Wolld take ths lofigest firs; |
r_i_foreatzhrraom:temperamrs,, _ - o :

(i) | Graph ¢
(iiy | 28 °C

41 Goncept: Matter gains heat-and expands.

| Observations: - There was air fir both fasks, ;
i ~The Ink drop for both flasks moved up, The alrin both flasks expanded: |
= [he -ink*-dmp-.mwe:diug'Je's_s-'iarthg;-@ﬁﬁe Hlask. ‘

| Prastic is a[poarerjeonductor of heat than metal, The air inithie plastic flagk |
| géined heatlslowentroth the hotwaterand sxpanded|léss  Thus, the ink drop |

{ was pushed up Jess by the-expanded air, /

Plastic is a poorer condugctor of Heat than istal. The plastic flask corducted heat |

| Slower from the hot water to the airin the flask. The. air exparided less and thi |
|kdmpuaspushedupless. ]
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